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U W e (Sed ) then we=

| ' )
W S s B) £ 5 G
I (] S § LD 28 e, 40
(G (Sx+4) o 25 S (Sx+4)
2 v=log(x+3) then vy =
‘ =" n-1r2" (=1y"" 2"
N TGy B) oy
=D (=) (=1 =) 2"
U*) .. n “1)\)' . n+l
(2x+3) (2x +3)
N T .v=s'in[;'\llll.\‘+ 2(122} then yj3p5=
(A)2022*"'sin (2021x +101 1)
W 202" sin (20213 +2022+101 1)
(€Y 20217 sin (20213 +2022+ 2022 1)
(DY None of above
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i ’
f y=e¢”sin(12x+5) and y,=r"¢ *sin(12x +5 -+ nd)

then r=

R

(&) Va7 +b (B) >
€y 13 (D) 12

If y:s.im.-l x, x€(-1,1), then (1_x2]y2 -
(a) 0 B)

<€) » - (D) x2y|

" n In_ Irr—l
If In =§x_;(x 10gx), then E- (n—l)!+ .
(A) n! (B) nn!
| ]
(C) n o) —

Suppose real function f and g are continuous on [a,b] and
differentiable on (a,b), also , Vxe(a,b), then Ace(a,b) s.t.
F(B)-£(a) _f(c)
g(b)-g(a) g'(c)

(A) g(x)=0 B) f(x)#0

©) g'(x)=0 (D) g(x)=0

If ﬁ(x):sin x, g(_x;)'.: cos X, IE[O, %] and f, g SﬂtiSfy a”. C{)ﬂditiﬂn
of Cauohy's mean value, then C=

(A) tan™' (V3 -1) B) cot™ (vZ-1)
{C) tan” (1- V2) (D) None of above
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9 sinx=
X Jr2 X X3 x° I?
(A) I+F+?+?|—+ ....... (B) x—§+§—?+ .......
2 oxt X
C I_F+ﬂ_'@_'+ ....... (D) None of above
. 2
W For x=sin®, y=cosm® and we have (l—xz}}'z"‘x.l’]"’m y=0,
then (l—xz)yﬂ+2-—(2n+]),1yn+]= P -
(A) n? B) n*-m
©) n’—w’ D) m®-n’
"
2
11 If n isan odd no. then |cos”dr=
0
n—1 n—3 2 n=1 n-3 1=
W =3 B w222
n n-=2 2
©) =5, =3 3 (D) None of above
z
12 :fmnaxdx:
0
35 356
(A) 5 B) 35T
35 35
© 256 D 256"
3 4
13 J.sin(’xcas xdx=
0
3 ny SE
(A) 7™ (B 312
3n
2 D) 24
© 15 (D)
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14 jsm“ 4x-cos® 2x dx =
0

128 128
A 1155 ®) 1155
128 n 128
© 1552 D) Tiss

l;_ i
15 |sin’ (3.5) dow
)5

32 32 .1
A) =—xmn 2« B
ST B) 10573
n 32
C) — . g pdndl
(C) 3 L b
1 2 3 n
16 + + S U =
P+ re2d pleql nt+n? ——
A log2 (B) 2log2
1. '
©) 7 log 2 . (D) -log 2

\)Q The length of one arc of cycloid x=7(8-sin6), y=7(

(A) 54 (B) 55
(C) 56 (D) 49

& The total length of 42 4+ y? =49 is .

(A) 14 B l4n
(C) 49n ) 497’
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__9_7 Rotate the area between yz =4x, x* =4 y about y axis then the volume
generated by this region is

in 96
(A) 0 (B) =
n S5n
© 3 D) 3¢

20 Rotate the area between y=¢*, y=0, x=1, x=2 about x—axis then
the volume generated by this region is

(A) %ez(ez—]) (B) %62(32—])

(C) gez(ez—l) (D) %ezl(es—l)_
27X +(F 5P =

@A) (%P +pP ) |xF|yf

© K w) f

22 If F=(z x’,-y") then F,(1,2,3)=
(A) (3.0,0) ~ (B) (0,3,0)

(C) (0,0.3) (D) 3k

23 [5% 7% F]=

(A) 5 B) 7
(C) 35 (D) 0
M V()= |
(A) fe+VfVg (B) fVg+gVr |
(C) fVg-gVf (D) None of above
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25 axb)x(exd)=[abde- d-
& @bt (B) [535]
©) [pba) D) a

26 Af f=x12f+2y}+y3£ then div f =

(A) 2x+:z B) 2xz+2
(C) x+2z (D) None of above

1 _ .
Y If r=|r| where 7=(x,y,z)eR then show that V(;)—____-
1
(A) B~z

© —57 ®

s

28 If }_“=(x2y, yzz, zzx) then curl f = .
(A) (_yz,_zz’xZ) (B) [_yz,_zz’_xz)

(©) (_yzj 2, _xz) ) [yz,—zi,—xz)

29 Equation of tangent plane to the sphere x* +y? +2° =26 at the point

(3,4,-1) is
(A) 3x+4y+:z=26 (B) 3x+4y-z+26=0

(C) 3x+4y-2z=26 (D) None of abr_ovc

30 The intersection of sphere and a plane is

(A) circle (B) plane
(C) sphere (D) none of above
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34

If two sphere touches externally than .

(A) €1¢y ="’| “"?‘21 B) cey=nn

€) ¢c,= h+r, (D) none of above

The equation of cone having vertex (0,0,0), X axis as its axis and semi
vertical angle g is given by

(A) 3’ +22=xcos’ @ B) y*+z2=xsin’0

©) y*+z22=x"tan’0 D) y2 +28 =x cot’ B

The equation of cone having vertex at origin curve x2 + Y =4,z=2
1 |

—

(A) x2+y2—zz=0 B) x2+y2+32=0

() x2+y2=4 | M) x*+472=¢

If axis of the right circular cylinder of radius 2 is {(1,3,2k)/ ke R}
then the equation of the right circular cylinder is

A) (x=17+(y-37=2"  (B) (x-1)2+(y-3)=0

©) (x+1)? +(y+3) =2 (D) none of these

35 Redius and centre of the sphere 2, YV +z0 =49 is
(A) 49, (0,0,0) B) 7, (1,-1,1)
€) 7,(0,0,0) M) 7,(7,0,0)
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